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1. A(=1,4)and B(2, 5) are two points in the plane.
Find () |AB| (ii) the slope of AB.

2. Pisthe point (1, 2) and Qis the point (-2, 6).
(i) Plot P and Q on graph paper.
(i) Find the slope of PQ.
(i) Find the equation of PQ.

3. The equation ofaline isy = 2x — 4.
(i) Write down the slope of this line.
(i) Atwhat point does the line intersect the y-axis?
(i) Atwhat point does the line intersect the x-axi:
(i) Whatis the slope of any line that is perpendicular toy = 2x — 42

4. (i) Verify that the point (2, 3) is on the line 2x — 3y + 5 = 0.
(i) Ifthe point (1, k) is on the line 2x — 3y + 7 = 0, find the value of k.

5. A(=3,1)and B(3, 9) are two points in the plane.
) Find M, the midpoint of [AB].
On which axis does M lie?
(i) Find the slope of AB,

Write down the slope. of any line perpendicular to AB.

(V) Now find the equation of the line through the origin and which is perpendicular
1o AB,
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6. Use the grid on the right to write down the slope of 2
the line p.

Now write down the equation of p in the form y = mx + ¢

7. Listheliney — 6= —2x - 2. [
(i) Write down the slope of £ o e
(i) Verify that (1,2) is a point on ¢

10.

.

13.

(i) ¢ intersects the y-axis at T
Find the coordinates of T
(iv) Show the line ¢ on a coordinate diagram.

The equation of the line ks x — 2y + 10 = 0.
(i) Verify that T(2,6) € k.
(i) Find the slope of k.
(i) Find the equation of the line which contains T and is perpendicular to the fine k.

(i) Iftheline 2x +y — 7 = 0is parallel to the line 4x + ky — 3 = 0, find the value of
(i) The line 2x + 3y — 6 = Ointersects the x-axis at A and the y-axis at B.

Find the coordinates of A and B and hence find the area of the triangle OAB, where
s the origin,

o clean the upstairs window on the side of
2house, itis necessary to position the ladder
sothat it just touches the edge of the lean-to
shed as shown in the diagram. The coordinates
represent distances from O in metres, in the x
and y directions shown.
Find (i) the equation of the line of the ladder
(i) the height of the point A reached by
the top of the ladder
) the length of the ladder in metres,
Cisthelinex — 2y + 2 = o,
mistheline3x + y g = o,

correct to one decimal place.

Aline  has slope —2 and passes through the
i
(i) Find the equation of ¢, Reng i),

(i) Find the coordinates of the points ag

which tf 2

(i) Find the equation of the straigh ine throug
(i) Another line has equationy = 7. 5, " O Dand (3, 7).
Without crawing the nes explan hows o ¢
perpendicular to theline in part ). " ell whether or nor this fine s





